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Atempt All questions. All questions carry equal marts'

Q.l (a) ..Management Accountirg k ao effective tool of financial controf'. Explain.

Differentiate betreen cost accounting and Iumsgement accoEting.

(8)

(b) *St8[dard costilg and Budgebry contol are similar ia .some respecb yet different in

many."Throw some light on the statemenl O\

OR

Q.l (a) How is cost Accounting different from Management Accounting? state the

advantages

(8)

of Management Accounting.

(b) State the special circumstances when Selling Price is fixed below the Variable Cost. (7)

Q. 2 Telco Limited er(pects to have Rs. 23,5@ casb in hand on october 1,2021. It requires

v^rr f.r trrefare a cash br:dget ftr 1 mnnlh5 qlding otr Deceqber ?1 . ?h21' 'lle follo'r'ing

deuils are given:

Monli Sales Purchases Wages Factory Expenses Office E4renses

(in Rs) (in Rs) (in Rs) (in Rs) (in Rs)

Awust ,61,000 . 31,000 5,000 4,000 4,500

September 70,000 34,000 5,750 4,850 4'500

October 76,000 38,500 6'150 5,000 4'500



. Novernber

Decmrbcr

Variable Overheads

Indirect Ma&rials

Indirect Labour

Semi-Variable Overheads: . .

Electricity(40% fixe4 60% variable).

Repai(8O% fixed 20% variable).

Fixed Ovedteads:

Depreciation

Insurance

Salaries

Estimated
(ls)

..1,06,000

1,21,000

46,000

46,000

7250 .6,750

8,650 7,2s0

4;500

5,000

The other details are:

(a\ 25a/o of sales are for cash and period of credit allowed to custo&ers for credit is I
month.

(b) Delay in paymeat of all expenses - I month.
(c) Period of credit allowed by suppliers - 2 ruonths.
(d) Income Tax of Rs.45,000 is due on 20th December.
(e) The compaay has to pay dividends to its share holders amounting to Rs. 5,000 ia

October.
(f; The bouus of Rs. 30,000 will be paid by the company to its employees in Novembar.
(g) A pl8rlt costing Rs. 30,000 will be purcbased and paid in October.

(ls)
OR

Prepare a Flexible Budget for the overteads of ABC ltd. From the Data given below and
ascstaia the overtread rates based on direct labour Lours st 50%, 6flo and 70% respectively.

The following data is based on 60Yo capacity:

Rs.

6,000

18,000

30,000

3,000

16,500

4,500

15,000

direct labour hours are 1,86,000.



Q...3(a) Silicon;Limi*d hired a gmup of rror*ers,,to conp.letera joba The deqilr of t$e
workforce are given below, the job as expected to be finished in 20 weeks.

Class of workors " Stadard data Actual data

Na. of workers Weekly wage rate (Rs) No. of workers Weekly wage rate (Rs)

Skilled 65 50 60 60

Semiskilled 35 30 20 40

Unskilled 50 20 70 10

The work was actualiy completed in 22 weeks. Calculate labour variances. (10)

reduction.{b) Differenthte between

(5)
cost control and cost

OR

Q3(a) What do you understand by Zero Base Budgeting? Distinguish between Fixed and

Flexible Budgets.

(7)

(b) Draw a proforma of Absorption costing and Marginal Costing. (8)

Q, 4 (a) Sultaa Exports Pvt Linitrd produces 26,000 fars in the home osrket at a price of
Rs. 68 per uoit. The cost details ofeach faa are given below:

Direct nraterials: Rs 12

Direct labour: Rs 8

Factory overheads:

Fixed: Rs 14

Variehle. Rs 5

Office & Selling Overheads:

Fixed: Rs 8

Variable: Rs 4

The coupany receives au order &om Singapore for 8,000 farrs at a price ofRs 33'per fan. The

company will have to incur an additioul cost of Rs 7,?50 over and above the variable cost if
the ofler is accepted. Should the compa:iy accept or reject the order? Show the working'

(10)



&) Wh:atare t&e aisuarptions rmderlying Break Even Aa&lysis?

The Standard cost of a Ch*nicat Mixh:re is as ibllolvs:

40% material A rt Rs. 20 pe! kg

60% material B at Rs. 30 per kg

A stardard loss of 10% is expected in production. The cost records for a period showed &e

following usage:

90kg material A at a cost ofRs. l8 per kg

I l0!g. material B at a cost ofRs. 34 per kg.

The quantity produced was 182 kg ofgood product.

Calculare all rnatedal variances. (15)

Q.5 Megha Limiled fumishes the foltowiag details for the year ending o'a 31 Deeeober,

2020i

Production: 1500 Uoits

Sates: 1400 Units

There was no opming stock.

Manufacturing cost:

Variable: Rs 8 per unit

Fixed (Total): Rs. 3,000

Selliag & Adrniaisxrative cost:

Variable: Re I per unit

-r,, , /f^r-i\, ta- c/\.lr ^^rs \: vtJ{lr rw ,vv

Selling price per unit: Rs 18

Prepare

(a) Income Statement using Marghal Costiry me&od;

(b) I$come Statefient using Absorptiol Costiag oethod; and

(c) Explain tbe differeaee in the two prolits, ifauy' (15)

OR

e. 5(e) Tanmay Limited provide the following data for ttre first half and second half of 2020:

OR

(s)



Sales: .

Total Cost:

Fint Hal(Rs.)

38,00,000

'35,80,000

Second Hal( Rs.)

44,00,000

40,00,000

You,are askpd to determine

(i) ContributionlSales Ratio of the finn;

(ii) Annual Fixed Cost;

(iii) Break Even Point; and

(iv) Margin of Safety as percentage of Sales.

(b) "Responsibility Accounthg has a close link with the size of the organisation

What are rhe different types of Responsibilty centres? Explain.

(8)

Elucidate.

(7)



a.1 (ai ",edqa d€i+-d fdfc fr{i"ur 6I Qir str& sFfiq t't qrer *tftqt

ar4-d *tgi6 qti c?itra *€i6-dr f 3ia-{ wlz fiB(rt (8)

(b) 'Hcrfr errra rlk Ttr&q fr{i"sr Eo arrd't sqra 6, fur et 69 tr fra
St.' gs fird q{ E6 r+rer srfrst (z)

qI

O.1 (a) arenr *rqiaa qdqa euiffi t ** eH & eiitffi dsim-;r * an+

q-dr5(rl (8)

(b) t6 trttq'qftelfr{t qr re*rq *lfrs a-{ E-r-o qa5 cfffd-drq arrre t
dB 6q"fuqr BIaT tt (7)

o. 2 tiis) frfris m} 1 3rqgt, 2021 dt 23,500 sqt *:r tra fs d-i *r:r#?t-q

tr fr* frr. 3ilqs) 31 q{irt, 2021 d e-qrun 6ti Er& 3 {ffi * frq ffFE

rae tqrt arar Fl ffifua fufigT E('zrq F:

Month

August

September

Purchases

(in Rs)

31,000

34,000

46,000

46,000

Factofy Expenses

(in Rs)

4,000

4,850

Oftice Expenses

(in Rs)

4,500

4.500

4,500

Sales

(in Rs)

61,000

70,000

Wages

(in Rs)

5,000

5,750

7,250

8,650

6,730

'7,250 s,000

(a)BFr 61 25% r+-q t frs t 3it{ trr661' 6f *Bd * frv sr5a-a *Bc ffI

rafr t 16r* tr

\rvruu\il

November 1,06,000

December l.2l ,000

ra fa-*or t:



(b)s$ ud *'agrrarfl f At - r a-&nr

(c) gr{tr-fi'dBit al-drr :r{a-d AUr fi rcfu - 2 rrffil
(d) 20 frda.t ;ni +s,ooo rqt m $rcqrr Aq tt
(e)qisfi qn 3T.rfr ?)T{ rrnat +t $-rqq{ tr 5,000 rr{ 6r crR} 6T ararilr tar

tt
6 atie* 6:fv-tr sqi *ffitrf s'l 3o,ooo 5q$ * Etr*r ar ryrara +-trtr
(9)30,000 strt fi f,rra ililr r.*'c-aie 3rqgq f sff61 3it{ rymm fuqr

BRryn (15)

qT

('ffi frR& * 3ir6ri{s * fr(' r'c. adt-ar sa-d tqrq frB('t dfi ft(, IK'

affi g Jitt f''rnr' Sayo, 6o/o 3it< 70olo sr sridTaT ryq tid * 3frrrR q* tffis
r<t *r q-ar a-rftt

ffifua ier 6oyo Errrdr qr silrnfuf, t:

Variable Overheads: .

Indirect Materials

lndtect Labour

SemiVariable Overheads :

Electricity(40% fixed, 60% variable).

P.noi'/eno/ ffva.l ?Ool- wrriahlal

Fixed Overheads:

Rs.

6,000

18,000

30,000

1 000

16,500

4,500

15,000

Depreciation

Insurance

Salaries

Estimated
(15)

Idirect labour hours are 60 000.



A 3 {a} Rfr"f{ frfrls i (rfi rfirrl Wr qre * finr *-ffi t w'v55 +t

irtrr.n{ *t gg 6rf<-a irr fud{ur trt ffqr rrqr t, 614 20 qqr6 tr $crw 6}A

fr 3d( tl
Class ofworkers Stsndard data Actual data

No. of workers Weekly wage rate (Rs) No. of workeG Weekly wage rate (Rs)

Skilled 65 50 60 60

Semiskilled 35 30 20 40

Uuskilled 50 20 70 10

q6 6IIr qrss tr 22 sqilrE d gr frw rrql ?Irl ,rIT ft-trdBtl *t qsrar StH(rl

(10)

(b) arrrd fr{irur 3ik arrr6 f fi.fr * fiq 3id{ 6IB(rl (5)

qr

a 3 (a) .frt as {sferr t 3{Is flI F{Se t? fr-ffi 3ik dBrd-fr qrc *
dfE 3id{ 61ft('t (7)

(b) 3fid{flcsr aFI-d 3itt fiqia arrrf, sT (rq; ffir il{rd'l (S)

rR;r 4 (a) gdfrra (-trctfs cr. frfrac stq Erdr tr ge ctr dks s 26,000

uqn fi fmd r{ qd ffir& 31 xds'qd CiI arrra 6r Bfiqi fr* BqI ?rql t:

Direct materials: Rs 12

Direct labour: Rs 8

Factory overheads:

Fixed: Rs 14

Variable: Rs 5

Office & Selling Overheads:



Fixed: Rs8

Variable: Rs4

eiy* +t s3 tqS cfr.id 6l *rlrd w 8,000 qd * fra'Rhfi5i'S 3fif{ frmnr

tt srrr 3fi,w df+.m fr-qr drdr t dt qic-fi 6I ifr(rffi qft" * $arirT 7,250

wr{ ar 3{frfrfir e* rfa +-rar fint wr r$rfr st 3fif{ {ff6r sr 3r$r6n
+-rar arfu Eff4 +-rt furstt ltoy

(b) ifi-f{d frs*sur f riaffif56 qinom' +qr & (s}

Irstqfi-m friror fr err.rdrrkr gg rr+n t:

20 rqlt 6 ftrn fi 4oyo lgmri A.

30 sqt o6 fum f 6070 TTra.rff B

5;q6a f 10% fi arro grtr 3{tFd tt t'*' rdft *, fr(' arrra ft-{f6 il
ffitr-a sqqtrr ftgrqr:

18 scri ch Er-slr fr arrra S 90 fuTJr rrqdl A

3a 5q{ o6 fi;m f,r arrra t 110 fr-qr €rffi B

sefr ,itfr"dr ft-aan* fir rrsrar Srfr('t (15)

o.5 eqr frfr}s 31 Briq-r, 2020 6t sana ati ari Eq * fr(,. B-safrfr-a
k*tu n-+qa orar t:

3F{rdia: 1500 {mgqi

F*€t: 14oo r+rssY

3nq'Firr d* aff qrt

qt

Effior arrra:

182 ffidnfr 6l rf,rfdfr anr 3rid rdcr 6r ?frt



qfu-*drq: 8 EtrS cfr ABc

fiffi Gdi:.3,ooo sri

tr-fiI3lk qttrgff*'arrrd:

q<: cfr {Fc 1 t'T}

frtws (€O: 5oo sqt

cfr {Ae fuFr qa: 18 {q&

d-qr 6IB('t

(a)fiaid arrrr rrg-etr 613EqI4 6-r& 6v :irq Bfiur;

(b)3netcur arrrd EE 6T 3qqtrr +-{i E(r $rq ffiRur; aefi

(c)ffi apfr'd'qft +}$ rrrt d d wsE *IB('l (15)

qT

a. 5 (a) a-mq frfrCs 2020 6'r qffr 6ar& 3it{ EFtr wrfr * fr(' ffiEd
lcr c-{rd a'rm t:

q-f,dt irsr& (€l) (tr$ ffir& ($t)

ffir: 38,00,000 44,00,000

Ea Er4aT: 35,80,000 40,00,000

3irq6l ftIrra arar 6

1i1 m-d +r qtffidrfffi 3r{qir;

(ii) arffifi Rrt arrra;

(iii) i6 {tFr qr{c; aqT

(iv) B-fi t cRm d sc d MtFtt ar arffiat 1e1



(o) 'ya-rqtfueE t{giqr4 oT drrca t:non * snr qfraa €aiu g'1 sq SIR\rl

BA"a's-6R *'s-{c<rft-iE *''c wr p aorcor fiB(rt (7)


